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(a) 1

(b)

14+1=77
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T or F:
f decr. on I

(a) True

(b) False
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T or F:
f decr. on I

(a) True

(b) False
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flz) =23, f'(z) =322

ed’'n of tan. line at
(2, 8)

(a) y — 2 = 3z2(x — 8)

(b) y — 8 = 3z?(x — 2)

() y—8=12(z — 2)

(d) none of the above
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f(1) = 200
f(3) =800
avg rate of change?

(a) (800 — 200)/(3 — 1)

(b) (3—=1)/(800 — 200)
(c) (200 —800)/(3 — 1)

(d) none of the above
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z:et—|—4t3
Nz =77

(@) [ A0 - a(t + (A1))3] 4 |ef + 463
(b) :eH‘(At) — 4(t + (At)):ﬂ + :et — 4t3]

(€)

(d) none of the above

:et'l'(At) +4(t+ (At))iﬂ - :et + 4t3]
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|098(1) = 77

(a) 0
(b)1

(c) -1

(d) none of the above
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/a6 + ot
lm

= 77
0+ t(sint)

(a) DNE

(b) oo

(c)3

(d) none of the above
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- 3 4 -
, x> + x
lim =77

x—0 T — Sin T

(a) DNE

(b) 6

(c)1/6

(d) none of the above
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\J/\f T or F:

T f incr. on I

(a) True

(b) False
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T or F:
f incr. on I

(a) True

(b) False
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\/ T or F;
I f incr. on I

(a) True

(b) False
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\/ . TorF:
f nondecr. on I

(a) True

(b) False
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/ T or F:
— f incr. on I

(a) True

(b) False
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y =Sinx

Ay =77
(a) [sin(z + Az)]

(b) [sin(x + Ax)] — [sin x]

o) [sin(x + Ax)] — [sin x]

( A\x

(d) none of the above
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y = e’

Ay =77

(a) estH(As) _ gs

(b) o5t (As)

() (e5H(A9) —es) /(As)

(d) none of the above
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y =e”

Ay =77

(a) T+ (Az) _ oz

(b) T+ (Ax)

() (emH(An) —ev) /(Aa)

(d) none of the above
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f(z) =ab/6, ['(z)= a5
slope of tan. line at
(2, 2°/6)

(a) 2°/6

(b) (2°/6)°

() 2°

(d) none of the above
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f(1) = 200
f(3) =800
avg rate of change?

(a) (200 — 800)/(1 — 3)

(b) (1 —3)/(200 — 800)
(c) (800 —200)/(1 — 3)

(d) none of the above
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INl = 77

(a) 1
(b) O

() -1

(d) none of the above
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10910(100) = 77

(a) 0

(b)1

(c) 2

(d) none of the above
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1095(16) = 77

(a) 3
(b) 2

()1

(d) none of the above
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|ng(1) = 77

(a) 0
(b) —1

()1

(d) none of the above
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20 — 77

(a) 0
(b) —1

()1

(d) none of the above
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INQ = 77

(a) 0
(b) —1

()1

(d) none of the above

0% 0% 0% 0%
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|ng(1) = 77

(a) 0
(b) —1

()1

(d) none of the above
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In(e?) = 77

(a) —5

(b) 5

(c)1/5

(d) none of the above
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|Ogg(8) = 77

(a) 0
(b)1

(c) -1

(d) none of the above
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|Oglo(0 01) = 77

(a) 0
(b)1

(c) -1

(d) none of the above
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(a) 1
(b)
() —z

(d) none of the above
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(a) 1
(b)
() —z

(d) none of the above
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lim = 77

(a) DNE

(b)1/3
(c)—1/3

(d) none of the above
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lim = 77
T— — 00 3T

(a) DNE

(b)1/3
(c)—1/3

(d) none of the above
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